EIGER Y ICL- 1 Quadratwurzelziehen | Partielles Wurzelziehen

Partielles (teilweises) Wurzelziehen

Arbeitsblatt

22-V2 | 15-V5 | 48-v3 | 9-V11

Musterbeispiel: v4-15=2-v15 21-V5 | 3-V18 | 30-V6 | 28-v2

622 67 47 56 -3
V18-9 = 25-5-9 = =
V16-7 = 2-16-49 = =
V22-36 = v100-9-6 = =
Vv81l-11 = V64 -3-49 = =

28 2-V11 7-V3 9:-v2

Musterbeispiel: V32 =1/16-2 =42 6:V3 | 10-v2 | 7-¥2 | 2-V10

3-V3 443 6-V5 5-2

fVv8 | x- /18-y | 4-e-Vc-d 5.e-g%\f

Musterbeispiel: /7 -y2 =y-/7

x-V5 y-V32-x a-V7-b 3-a-c-Vb

5-x%= V16-c-d-e? =
f2-8= J32 x-y2=

V7-a%-b V9-a%-b-c2 =

J18-x2 -y = \/25-e2-f-g4=
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